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4 Kalinda buys x packs of currant buns and y boxes of iced buns.

There are § curant buns i 2 pack of curran buss.
There aze  ieed buns i 2 bor of sead b,

‘Kalinds buys 2 total of Tbuns.
Writedorws 3 formula for T in terms of x sad y

(Total for Question 4 is 3 marks)
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‘Sweets e s i bagsand i .

Thes s 20 swess i g,
Thes s 30 wests i .

Lo bys 5 bugs of st and T o of et

Hebuys a sl o S swets
Wt down s Gl for S i e o B and T
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The diagam shows sl cone 2 sl Bemisphre.
The cone b b of i o and  beighto .

The hemishere b b of i o

The suac e of th cone i sl the s v of the hemispher.

Find an exprosion for b i s of .

(otal & marks)
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12, A shop sels small boxes and e bores for loring CDs..

Al bo sores xCDs.
‘Alrge b stores D

Elran buys 7 small boxes.
Ha 0 By 5 arge bows.

Elhan can sior 3ot o 7CDs n these boses

Wi o  ormla o Tin erms of xand .

(Total 3 marks)
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12, Bateres aesod i paces s boses.

Euch pace contains  baeris.
‘e b contene 20 b

Bl buysp packes ofbaeries
5 b of b
Bill ays 2 ol of N bacaris.

e doma  oranla o Vi
o ofpand





image11.png
) Catclte v o s

(Total 4 mars)





image12.png
wis a positive number.
xis 10% more than w.
yis 10% less than x.

Which statement s true?

Tick one box.

wex and w<y

w<xand w=y

x>y and w>y

x>yand w=y

[1 mark]
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20 s inversely proportional to 7.
i ity proporions 0 7

(Total for Question 20 is 4 marks)
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19 The point P has coondinates (3, 4)
The poin © hascoondinates (¢, 5)

Aline perpendicular ta PO i given by the equation 3x + 2= 7
Find an expression for & in terms of .

(Total for Question 19 is § marks)
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9 Ashop sells packets of envelopes.

Ther are S envelopes na small pact.
Ther e 20 avelopes n 3 Lrge packet.

Ther i ol of T emvelopes i  smal packes mdy lrge packes.
Wit o foml or 7.5 e o 3.

(Total for Question 9is 3 marks)




